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T§CAb`�� T��d�� Ahl�� ��  wk� ¨t�� x �y�  d� : A
. T�y�}

x ∈ R ; −2x2 + x = −1 (1

x ∈ R ; 2x2 > x+ 1 (2

x ∈ N− {2} ;
3 + x

2− x
> 2 + x (3
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¨�  w�CAKyF TyRA§C �wl� �A� Y�¤� @y�®� �ym�

¤� �� rb�� �d`� Yl�  wlO�yF¤ �ht§w�A� �y�mt� Tq�As�
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: Ty�At�� ��CAb`�� rbt`�

A : ∃x ∈ R ∀y ∈ R x+ y > 0

B : ∀x ∈ R ∃y ∈ R x+ y > 0

C : ∀x ∈ R ∀y ∈ R x+ y > 0

D : ∃x ∈ R ∀y ∈ R y2 > x

.T·VA� �� T�y�} D ¤ C ¤ B ¤ A ��CAb`�� �¡ −1

. Ahyf� X�� −2
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: T�y�} Ty�At�� ��CAb`��  � �y� Tqyq��� �¤d� �Am`tFA�

(P et (Q ou R))⇔ (P et Q) ou (P et R) (1

(P ou (Q et R))⇔ (P ou Q) et (P ou R) (2

(P ⇒ Q)⇔ (Q⇒ P ) (3

P et Q⇔ (P ou Q) (4

P ou Q⇔ (P et Q) (5
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:  � �y� 	FAnm�� �¯dtF³� �Am`tFA�

∀(x, y) ∈ R : a2 + b2 = 0⇒ a = b = 0 (1

(∀x ∈ R+)(∀y ∈ R+)
x+ y

2
>
√
xy (2

(∀x ∈ R) x 6= 0⇒
√
x+ 1 6= 1 +

x

2
(3

(∀n ∈ N∗)
√

x2 + 1 /∈ N (4

(∀n ∈ N)© r� n2 ⇒© r� n (5

(∀n ∈ N)¨�¤E n2 ⇒¨�¤E n (6
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: ��rt�A� �¯dtF³� �Am`tFA�

: An§d� N �� n �k� ¢�� �y� 	�w� ¨qyq�  d� a �ky� (1
(1 + a)n > 1 + na

Tmsq�� �bq§ 16n − 3n  � �y� n ¨`ybV �y�}  d� �k� (2
.13 Yl�

. 3/(4n − 1)  � �y� n ¨`ybV �y�}  d� �k� (3

∀n ∈ N ; Sn =

n∑
k=0

= 0 + 1 + 2 + ....+ n =
n(n+ 1)

2
(4

∀n ∈ N∗ ; Sn =

n∑
k=1

= 13+23+33+....+n3 =
n2(n+ 1)2

4
(5
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: � �y� �l��A� �¯dtF³� �Am`tFA�

√
2 /∈ Q (1
√
3 /∈ Q (2
√
5 /∈ Q (3
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2|x+ 1| − y = 4

|x+ 2|+ 2y = 6
: Ty�At�� Tm\n�� R2
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